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I 232 mwn: status of a mix of ©¥np, or ymp with a nnin which will all be burnt (D201 NNIN ,03715 NNIN)
a  onon:in all cases, 1w3
b nm i in case of Y173 173 nMan and DH01 NN, invalid
i reason: a regular nmn (and its ynmip) have “normal” texture; these two are “moister” (3 n% per 11vY)
ii  and: they absorb from each other (and now the ymp is invalid due to an excess of oil (n"9108 — MNWY na1n)
I Backdoor: dispute 1329/0mi "3 re: 0T Y0an o7 (1:n 0Nar)
a  opom: 7 can be Yoann to other o7 (na pn) if the quantity is sufficiently less (...R1)
b A7m 771 075030 DT PR
i source (for both): v. 1 —129n 07 is far more than 1ywn 07, yet when mixed it is still called vywn o7
1 p2a7 proves that "Rt PHoan POy PR
(a) reasoning: if it meant to prove that 502 X5 101 pn, it would’ve given such a case
(b) challenge: perhaps only 157 which are of the same type maintain integrity — xwp
2 »7y proves that %02 85 wwna pn
(a) reasoning: if it meant to teach that &t p>van poy PR, would’ve picked 11 1R
(b) challenge: perhaps only n”an which are also 12'» maintain integrity — ®wp
ii  challenge (to 7772 77): in our MWy, he allows for n”an Y1071
1 ~27°" holds that whenever it is n”an with another substance, we ignore the 11 (in this case, the oil) and let
the wn R (flour) nullify
iii challenge: dispute Y™1/1nv "7 if a RVIN NN Ymp was oiled:
1 »"invalid — per v. 2
2 5”1 valid - he should even oil it n%’nna%; v. 2 just means that it doesn’t have a regular oil-component
3 challenge (5735 21177 77): if a n2N (w/0 1nW) mixes with a N%1Y2, it may be brought —»" dissents
(a) assumption: these are both m'xnp that mixed > if the X0 nmn ymp gets oiled, it is invalid
(b) rejection: this refers to a %Ry D8 NN (more oil than DW1d NNan per PIWY) with Dwas nmn
(i) note: called n1n in relation to 0™ nnn which is “oilier”
(ii) challenge: ruling lists D18 into D'w13 then na7n into NYa
(iii) answer: >0 is explaining the reason for Xw”, not a separate case
¢ N27s question: if he squeezed out the oil onto the o'y and then put the ymp on those o3y — is it valid?
i lemmal: P53 P9I *N2N — this connection makes it one and the oil is considered part of the ymp
i lemma2: P5193 RS PO MM
1 challenge (?wn "75 #2237): isn’t this the dispute 51/ re: putting less than n>r> meat with bone attached yna?
(@) 777 P53 Py rnan > 270 (for Yin NrOYN)
(b) 577 om7 PHOYI IRY POY NN > NV
2 defense: either position is flexible here:
(a) 7 may only say P23 P2 12N re: bone, which is connected to meat, but not oil
(b) 571 may only say P13 1RY re: bone, which if it falls off, isn’t restored, but not oil which must be on narn
(c) or perhaps: they maintain their positions - yp'n
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